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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CMZAIE D 4,864,060 10,885,364 26,021,304
= 500,000
Al 4,364,060
A2 2Y 4,841,800 10,861,800 26,020,000
== 500,000
Al 4,341,800
A2 22 4,670,000 3,770,000 900,000
< 500,000
Al 4,170,000
A2 10,000 10,000
206 M=l 10,000 10,000
01 MHZH| 10,000 10,000
OANEE=ES 10,000
AEEHl RAl2el 60,000 60,000
201 er23| 60,000 60,000
02 S3=gHl 60,000 60,000
OFANZ RAl2te] 60,000
EAMAE B 400,000 400,000 0
401 AIEHIZ SR HYI 400,000 400,000
01 Al&HI 400,000 400,000
OBAMAE E 400,000
ST M2 2STHA(ASAY) 1,500,000 580,000 920,000
= 500,000
Al 1,000,000
401 AlEHIZ S 0HbI 1,500,000 580,000 920,000
= 500,000
Al 1,000,000
01 A28l 1,500,000 580,000 920,000
o2t N2 23 1,500,000
s 500,000
Al 1,000,000
MEAUAXS HAUTAH2 222 ALY 1,700,000 1,000,000 700,000
401 Al HIZL S 0HYI 1,700,000 1,000,000 700,000
01 Al&H| 1,700,000 947,000 753,000
OMAEAZ |28 1,700,000
2NN SSE2stdlE SSEAY 800,000 750,000 50,000
401 AlEHIZ S 0HYI 800,000 750,000 50,000
01 Al&H| 800,000 750,000 50,000
OAHNE=ANE SEESUH SHEAY 800,000
QISHIAE H2EAM2 E=ZAt 200,000 0 200,000
401 Al HIZ R 0HbI 200,000 0 200,000
01 AlZ28| 200,000 0 200,000
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